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8_AF_95_E5_A4_A7_EF_c83_503920.htm 1. d) scientists’ vision

of the world in half a century. 2. b) may not come true 3. a) humans

won’t have to donate organs for transplantation 4. c) live to 100

and more with vitality 5. c) alien life will likely be discovered 6. a )

might survive all catastrophes on earth 7. d) lost fingers and limbs

will be able to regrow 8.artificial intelligence 9.weapons and

greenhouse gas 10.religion 听力 section a 11. a）the manmight be

able to play in the world cup 12. d) solve his problem by doing a

part-time job. 13. c) a real nuisance. 14. a) the errors will be

corrected soon. 15. b) he has to type his paper once more. 16. a) they

might have to change their plan. 17. d) they are not late for a loan

application. 18. c) the quality of air will surely change for the better.

19. b) numerous varieties of food. 20. a) an ancient building 21. d) it

generates 70% of the electricity it uses. 22. b) 30,000 23. c) thinking

about doing a different job. 24. a) she has finally got a promotion and

a pay raise. 25. b) he changed his mind about marriage unexpectedly.

section b passage 1 26. d) they are getting more popular as a means of

water recreation. 27. a) water scooter operators lack of experience.

28. b) they produce too much noise. 29. d) enforce necessary

regulations. passage 2 30. d) they are changing. 31. b) not many of

them stay in the same place for long. 32. c) keep a friendly distance.

passage 3 33. d) it may lead to a lack of properly educated workers.

34. b) it affects both junior and senior high schools. 35. c) rewarding



excellent academic performance. section c 36. survive 37.

complicated 38. offenders 39. whereby 40. incurring 41. influence 42.

serving 43. restore 44. the alternative to capital punishment is longer

sentences. but they would certainly cost the tax payers much money.

45. that does not mean that person isn’t guilty of the crime, or that

he shouldn’t pay society the debt he owes. 46. a large part of it in

prison for acts that he committed while not in full control of his

mind. 仔细阅读 47. causing a reaction 48. an emotional debate 49.

the approval of every victim’s family. 50. exploiting a national

tragedy 51.raise awareness 52. b) their currency has slumped. 53. c)

they have to spend more money when buying imported goods. 54.

d) they think of it as a good tourist destination 55. c) they vacation at

home rather than abroad. 56. a) the dollar’s values will not increase

in the short term. 57. d) they care more about which college their

children go to than the children themselves. 58. a) they want to

increase their children’s chances of entering a prestigious college.

59. c) kid’s actual abilities are more important than their college

backgrounds. 60. b) degrees of prestigious universities do not

guarantee entry to graduate programs. 61. c) they experienced more

job dissatisfaction after graduation. 完形 62. a) soar 63. d) route 64.

b) after 65. d) lure 66. a) offering 67. c) announced 68. b) naturally

69 a) quotas 70. c) barely 71. d) abolished 72. c) initiative 73. b) but

74. d) version 75. a) BECause 76. b) automatic 77. d) dismissed 78.

c) about 78. c) professionals 80. a) prospect 81. b) clearly 翻译 82.

who devoted their whole lives to poems 83. or she should have

replied last week 84. to have finished his chemistry experiment 85.



has the old couple quarrelled with each other 86. the future

prosperity of a nation largely depends on 作文点评 6月21日六级考

试作文题目 题目：will e-books replace traditional books ? 1. 随着

信息技术的发展，电子图书越来越多。 2. 有人认为电子图书

将会取代传统图书，理由是... 3. 我的看法 点评： 本次六级考

试的作文题目给人的第一印象就是既意料之外又在意料之中

。意料之外是指这次所考的主题虽然也是社会热点，但是依

然是信息社会类的话题 ，与08年1月份的作文题“信息时代”

的大方向一致的。而且电子图书与图书馆的使用问题对于大

学生来说又特别的熟悉，因此难度并不大。为什么说又在意

料 之中呢？因为随着社会和经济的发展，信息化和数字化的

程度越来越高，因此 信息化产品的用途越来越广泛，占有率

的比例越来越高，对传统的产品构成了一种冲击和挑战，因

此作为当代的大学生，应该也必须关注社会经济发展的最新

动态，走在时代的前列，因此此类选题预示着一种命题的方

向，因此又在意料之中。这对于未来的考生来说，关注社会

热点，紧跟时代步伐是准备六级作 文的一个很重要的方向。 

从体裁层面上看，这次的题目是属于混合型，既有传统的单

观点类并发表自己看法的部分，而且还有原因分析阐释类段

落，难度较低，基本上都是考生很 熟悉的段落结构，但是考

生要特别注意两点：第一，写作中要包含提纲中所有 的要点

，尤其是部分考生可能会漏掉第二点的理由阐释，每一段要

有topic sentense ，给阅卷老师以结构清晰的感觉，会对你的

得分有好处。第二，虽然 是传统的观点类作文体裁，但是尽

量不要使用模板，以免造成不必要的失分，句式要富有变化

，多一些闪光词汇和闪光句型，比如说很多考生会写with



thedevelopment of economy , i believe that ...之类的句型，这都属

于低分标志，尽量避 免使用此类句型，你可以用evolve（进

化，发展）来替换develop，替换的理念一定要贯彻下去，不

光是对写作，对四六级考试的其他题型，如阅读，听力等也

有相当大的帮助。 100Test 下载频道开通，各类考试题目直接

下载。详细请访问 www.100test.com 


